

$$(1 + \sqrt{3}) + (\sqrt{3} + 1) \rightarrow \text{بقیه همان ۲ دارند}$$

$$1 + 6 = 7$$

$$\times \quad \frac{2}{6} + \frac{15}{6} + \dots \rightarrow \text{بقیه را ۲ دارند}$$

$$2 + 24 = 26$$

$$26 \times 2 = 52 \quad \text{پایان} = (2)$$

$$\frac{(1 + \sqrt{3})^{\frac{1}{2}}}{(2 + \sqrt{3})^{\frac{1}{2}}} = \frac{(1 + \sqrt{3} + 2\sqrt{3})^{\frac{1}{2}}}{(4 + \sqrt{3})^{\frac{1}{2}}} = \left(\frac{1 + 2\sqrt{3}}{4 + \sqrt{3}}\right)^{\frac{1}{2}} = \frac{1}{2} = \boxed{\frac{\sqrt{3}}{2}} \quad (\text{الف})$$

$$10 \quad 5 - 2\sqrt{3} = (\sqrt{3} - \sqrt{5}) + (\sqrt{3} + \sqrt{5}) - 2\left(\frac{9-5}{\sqrt{3}+\sqrt{5}}\right) = (\sqrt{3} - \sqrt{5} - \sqrt{3} + \sqrt{5})^2 \quad (\text{ب})$$

$$\sqrt{3} - \sqrt{5} - \sqrt{3} + \sqrt{5} = -\sqrt{2} \quad \leftarrow \text{پس}$$

$$\frac{\sqrt{2} + \sqrt{8}}{\sqrt{5} + 2} \times (-\sqrt{2}) = \frac{-2 - \sqrt{10}}{\sqrt{5} + 2} = \boxed{-1}$$

$$\frac{2\sqrt{2} + 3\sqrt{3}}{2 - \sqrt{3}} \times \frac{2 + \sqrt{3}}{4 + \sqrt{3}} = \frac{10\sqrt{2} + 18\sqrt{3} + 2\sqrt{12} + 3\sqrt{15}}{28 - 3} = \frac{19\sqrt{2} + 19\sqrt{3}}{19} = \sqrt{2} + \sqrt{3} \quad (\text{ج})$$

$$\frac{2}{\sqrt{3}-1} \times \frac{\sqrt{3}+1}{\sqrt{3}+1} = \frac{2\sqrt{3}+2}{2} = \sqrt{3}+1$$

$$\sqrt{3} + \sqrt{3} - \sqrt{3} - 1 = \boxed{\sqrt{3} - 1}$$

$$\frac{3\sqrt{3}-1}{2+\sqrt{3}} \times \frac{2-\sqrt{3}}{2-\sqrt{3}} = \frac{12\sqrt{3}-2-9+\sqrt{3}}{16-3} = \frac{13\sqrt{3}-13}{13} = \sqrt{3}-1 \quad (\text{د})$$

$$\frac{1}{2-\sqrt{3}} \times \frac{2+\sqrt{3}}{2+\sqrt{3}} = \frac{2+\sqrt{3}}{4-3} = 2+\sqrt{3}$$

$$\sqrt{3}-1+2+\sqrt{3} = \boxed{2\sqrt{3}+1}$$

$$\frac{(1+\sqrt{3}+\sqrt{3}-1)^2}{\sqrt{3}-\sqrt{3}} = \frac{2\sqrt{3}+2\sqrt{3}}{\sqrt{3}-\sqrt{3}} = \frac{2(\sqrt{3}+\sqrt{3})}{\sqrt{3}-\sqrt{3}} \times \frac{\sqrt{3}+\sqrt{3}}{\sqrt{3}+\sqrt{3}}$$

$$2(3+2+2\sqrt{3}) = \frac{10+4\sqrt{3}}{2-2=1} = \boxed{10+4\sqrt{3}}$$

$$2^{\frac{1}{2}} \times 3 \times 2^{\frac{1}{2}} \times 2^{\frac{1}{2}} \times 2^{\frac{1}{2}} = 2^2 \times 3 = 12 \quad (\text{ه})$$

$$\frac{r^2(1+3+9+\dots+r^2)}{r^2(\frac{1}{r}+\frac{1}{r^2}+1+r+\dots+r^2)} = r^2$$

$$\frac{r^2}{r^2} = \frac{r^2}{\frac{1+r^3}{r^3}} = \frac{r^2 \cdot r^3}{1+r^3} = \frac{r^5}{1+r^3}$$

$$r^2 = r$$

$$1 + r + r^2 + \dots + r^{n-1} = \frac{r^n - 1}{r - 1}$$

$$(a-b)^n (a+b)^n = \dots \rightarrow \sqrt{5} \times r^9 = r^{\frac{1}{2}} - \sqrt{3} \pm$$

$$r^{\frac{1}{2}} + r^{\frac{1}{2}} = 2r^{\frac{1}{2}}$$

$$r^{\frac{1}{2}} + r^{\frac{1}{2}} + r^{\frac{1}{2}} + r^{\frac{1}{2}} = 4r^{\frac{1}{2}}$$

$$\frac{r+\sqrt{3}}{r+\sqrt{5}} \times \frac{\sqrt{3}+\sqrt{5}}{r-\sqrt{3}} \times r^9 = \pm$$

$$\pm = \frac{r^9 \sqrt{3} + r^9 \sqrt{5}}{r^2 - r^2} = \frac{r^9 (\sqrt{3} + \sqrt{5})}{r^2 - r^2}$$

$$(a + \frac{1}{a} + \sqrt{3})^r (a + \frac{1}{a} - \sqrt{3})^r = (r^2 - r)^r \rightarrow (a^r + \frac{1}{a^r})^r = (r - \sqrt{3} + \frac{1}{r - \sqrt{3}})^r$$

$$a = \sqrt[r]{r - \sqrt{3}} = a = \sqrt[r]{r - \sqrt{3}}$$

$$\left(\frac{1 - \sqrt{3}}{r - \sqrt{3}}\right)^r = r^r = r^r = r^r$$

$$r = r$$

$$r^{\frac{1}{2}} \times r^{\frac{1}{2}} \times r^{\frac{1}{2}} = r^{\frac{1+1+1}{2}} = r^{\frac{3}{2}} = r^{\frac{3}{2}} = A$$

$$(r^{\frac{1}{2}})^{-\frac{1}{2}} = r^{-\frac{1}{4}} = \left(\frac{1}{r}\right)^{\frac{1}{4}}$$

$$a^{\frac{1}{r}} = r^{\frac{1}{r}} \times a^{\frac{1}{r}} = a^{\frac{1}{r}} \times a^{\frac{1}{r}} = a^{\frac{2}{r}} = a^{\frac{2}{r}} = r^{\frac{2}{r}}$$

$$(a^{\frac{1}{r}})^{\frac{1}{r}} = (r^{\frac{1}{r}})^{\frac{1}{r}} \Rightarrow a = r^{\frac{1}{r^2}}$$

$$\left(\frac{1}{r^{\frac{1}{2}}} - r\right) = r^{\frac{1}{2}} - r = r^{\frac{1}{2}}(r^{\frac{1}{2}} - 1) \Rightarrow \frac{r^{\frac{1}{2}}(r^{\frac{1}{2}} - 1)}{(1 + \sqrt{3})} \times \frac{(\sqrt{3} - 1)}{(\sqrt{3} - 1)} = \frac{r^{\frac{1}{2}}(r^{\frac{1}{2}} - 1 - r^{\frac{1}{2}})}{r}$$

Subject:

Year:

Month:

Day:

page: ( )

$$\sqrt{x+2} - \sqrt{x-5} = 2 \rightarrow x^{\frac{1}{2}} + a^{\frac{1}{2}} - x^{\frac{1}{2}} + x^{\frac{1}{2}} = 2$$

$$a = 5$$

در این جا

$$x=0$$

$$\sqrt{\frac{5+2}{9}} + \sqrt{\frac{5-5}{9}} = 2-1 = 2$$

10